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1Y Bl HE B
= 1 49, 671, 125
270 - MELE T
= 1 38, 311, 265
EE LT
= 1 606, 900
SRR = £
= 1 225, 900
HEL =8 - £ OEBEAY
= 1 381, 000
av)) - RIS T
= 1 13, 144, 828
VAR 18-5-80BB  W/C=60%LL F
m3 410 28, 611 11, 730, 510
FRAFTU e SRR
m?2 21 11,995 251, 895
FRAFTU e E2- RV XY
m?2 69 11,034 761, 346
Tl
= 1 335, 008
KT
= 1 39, 798
it
= 1 26, 271
N
= 1 2, 283, 093
EHEENZUR 18-5-80BB  W/C=60%LL T
m3 69 28, 611 1,974, 159

E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tl
= 1 282, 663
it
= 1 26, 271
JKANL
= 1 17, 000, 131
av)-p 18-5-80BB  W/C=60%
m3 521 28, 611 14, 906, 331
Tl
= 1 2, 093, 800
PEEE 7 0 > 7 T
= 1 1, 229, 280
BT 1y 7 & E 2000kg/fELL T
el 6 5, 794 34, 764
TR 1 7 iR 2000kg/ 8 %
el 67 4, 248 284, 616
A « A=z 7 U —h 2000kg/fELL T
21-8-40BB  W/C=60%LL T
m3 2 34, 203 68, 406
fA « HiAzm o 7 ) — b 2000kg/ 8 %
21-8-40BB  W/C=60%LL T
m3 27 29, 761 803, 547
it
= 1 37, 947
WRa 7 —F§
= 1 4,047, 033
2/7)=h KANL) 18-5-80BB  W/C=60%
m3 58 28, 611 1, 659, 438
av)) = (FERET ny)) 21-8-40BB  W/C=60%
m3 81 28, 701 2,324, 781
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= 1 62, 814
FEDR T AR oD T
= 1 9,373,723
EE LT
= 1 636, 589
SRR = £
= 1 454, 740
HEREL w2 - R OEERL
= 1 181, 849
A=
= 1 8,737,134
HERT 1w 7 (M) 3. 0%3. 0%2. 5
& 6 976, 829 5, 860, 974
#R7 1> 7 (B) 3. 0%4. 75%2. 5
& 2 1,407, 792 2,815, 584
2= SD345 D22mm  L=2100mm
VN 1 2,524 60, 576
e
= 1 1,986, 137
A - A AR 1
= 1 800, 746
YRR
= 1 800, 746
KET
= 1 1, 185, 391
w7 PR T
= 1 1,185, 391
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= 1 49, 671, 125
BTl TE:
= 1 7,893, 472
B ST ¢
= 1 3, 155, 556
TR
= 1 165, 663
IR T
= 1 165, 663
TRt
= 1 1,618, 089
TR E
= 1 1,618, 089
Htre m
= 1 810, 670

a7 U — NEADKERBRE

= 1 810, 670
BUGERRYGEE (K5 1)
= 1 561, 134
HimE R (FE L)
= 1 4,737,916
Wi
= 1 57, 564, 597
BTk X=giiv oy
= 1 17,974, 143
R 5]
= 1 75, 538, 740
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— e
= 1 13, 261, 260
Tk
= 1 88, 800, 000
THE B 2 %8
= 1 8, 880, 000
TG
= 1 97, 680, 000
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